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1. If base of a parallelogram is 18 cm and its

height is 11 cm, find its area.

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RmtuM0I9M0Ya

2. If area of a parallelogram is 29.6 sq cm and

its base is 8 cm, find its height.

o Watch Video Solution

3. Area of a parallelogram is 83.2 sq cm. If its

height is 6.4 cm, find the length of its base.

o Watch Video Solution



https://dl.doubtnut.com/l/_RmtuM0I9M0Ya
https://dl.doubtnut.com/l/_eOwFBBIA0WUj
https://dl.doubtnut.com/l/_dIzxwnv2lDn3

4. Lengths of the diagonals of a rhombus are

15 cm and 24 cm, find its area.

o Watch Video Solution

5. Lengths of the diagonals of a rhombus are

16.5 cm and 14.2 cm, find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_l2Fx828Na7oi
https://dl.doubtnut.com/l/_rKT3kl3LUfIh

6. If perimeter of a rhombus is 100 cm and
length of one diagonal is 48 cm, what is the

area of the quadrilateral ?

o Watch Video Solution

7.1f length of a diagonal of a rhombus is 30 cm

and its area is 240 sq cm, find its perimeter.

° Watch Video Solution



https://dl.doubtnut.com/l/_TTsdF8fhdu7n
https://dl.doubtnut.com/l/_Wckaqu7rD4GN

8. In OABCD,.AB) = 13 cm,
t(DC) = 9c¢m, L(AD) = 8cm, find the area of

[JABCD.

o Watch Video Solution

9. Length of two parallel sides of trapezium
are 85 cm and 11.5 cm respectively and its

height is 4.2 cm, find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_0A0b97AtW7xB
https://dl.doubtnut.com/l/_OJVr570YXe1n
https://dl.doubtnut.com/l/_E4xOKgSpXs3d

10. [OPQRS is an isosceles trapezium,
L(PQ) = Tcm.

SegPM | segSR,.(SM) = 3 cm. Distance
between two parallel sides is 4 cm, find the

area of LI PQRS.

o Watch Video Solution

11. Sides of a triangle are 45 cm, 39 cm and 42

cm, find its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_E4xOKgSpXs3d
https://dl.doubtnut.com/l/_aKnLpijG2squ

12. Radius of the circles are given below, find
their areas.

28 cm

o Watch Video Solution

13. Radii of the circles are given below, find
their areas.

10.5 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_EzErpiwgvJfB
https://dl.doubtnut.com/l/_LJoIDKuK8f7S
https://dl.doubtnut.com/l/_ngGdKpFeHRHv

14. Radii of the circles are given below, find
their areas.

17.5 cm

o Watch Video Solution

15. Areas of some circles are given below. Find
their diameters.

176 sq cm

o Watch Video Solution



https://dl.doubtnut.com/l/_ngGdKpFeHRHv
https://dl.doubtnut.com/l/_XjK8mMKi9ber
https://dl.doubtnut.com/l/_8rtNUEnqAPCr

16. Areas of some circles are given below. Find
their diameters.

394.24 sq cm

o Watch Video Solution

17. Areas of some circles are given below. Find
their diameters.

12474 sq cm

o Watch Video Solution



https://dl.doubtnut.com/l/_8rtNUEnqAPCr
https://dl.doubtnut.com/l/_5OZhe2jBGre6

18. Diameter of the circular garden is 42 m.
There is a 3.5 m wide road around the garden.

Find the area of the road.

o Watch Video Solution

19. Find the area of the circle if its circumfer-

ence is 88 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_BaXdOKo5mOWc
https://dl.doubtnut.com/l/_7f1cG9DPHGrR

20.If the lengths of diagonals of rhombus 11.2

cm and 7.5 cm then its area is

A.42 sq cm

B.42 cm

C.84 sqcm

D. 84 cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2EwYnXy9VS4J
https://dl.doubtnut.com/l/_j0Ez0vHOnQns

21. If the area of a parallelogram is 112 sq cm

and base is 10 cm then the height of

parallelogram is

A. 10 cm

B.11.2 cm

C.12.5cm

D.12 cm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_j0Ez0vHOnQns
https://dl.doubtnut.com/l/_poL6r419fyU2

22. If the radius of a circle is 21 cm then area of

the circle is

A.1386 sq cm

B. 1368 sq cm

C.441sq cm

D. 1441 sq cm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_poL6r419fyU2

23.1 acre is nearly

A. 0.5 hectare

B. 0.4 hectare

C. 0.2 hectare

D. Thectare

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XEkyYiUpUkMK

24. If the area of the circle of radius 10 cm is

equal to the area of parallelogram of base 31.4

cm then its height is

A. 314 cm

B.12 cm

C.10 cm

D. cannot be determined

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9XCklNrepp7r

25. What is the area of a parallelogram whose

base is 12 cm and height 7 cm ?

° Watch Video Solution

26. The area of a parallelogram is 26 sq cm. If

its base is 6.5 cm, what is its height ?

o Watch Video Solution



https://dl.doubtnut.com/l/_0N3Yz8jEm64d
https://dl.doubtnut.com/l/_p2wCMnwLCHzd

27.The area of parallelogram is 72 sq cm. If its

height is 8 cm, what is its base ?

o Watch Video Solution

28. What is the area of triangle whose base is

18.2 cm and height 7.5 cm ?

o Watch Video Solution



https://dl.doubtnut.com/l/_K1IrOwDWm2Bw
https://dl.doubtnut.com/l/_C3w8hkgvKybe

29. A triangle has an area of 11.6 sq cm. If its

height is 2.9 cm, what is its base ?

o Watch Video Solution

30. If the diagonals of rhombus are 15 cm and

18 cm, then find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_0WpZGhAYHi3G
https://dl.doubtnut.com/l/_SiricsXXZjtj

31. The area of a rhombus is 990 sq cm. If the
length of one of its diagonals is 36 cm, what is

the length of the other diagonal ?

o Watch Video Solution

32.The two parallel sides of a trapezium are 10
cm and 22 cm. If its height is 12 cm, what is its

area ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZPvJJM06e5Z8
https://dl.doubtnut.com/l/_74aF43rmPQi6
https://dl.doubtnut.com/l/_NqhwH8n25xN1

33. Find the area of the circle if its radius is 2.1

o Watch Video Solution

34. A circle has radius 35 cm. Find the

circumference.

o Watch Video Solution



https://dl.doubtnut.com/l/_NqhwH8n25xN1
https://dl.doubtnut.com/l/_GGVdyvpVfelp

35.If the area of a trapezium is 286 sq cm and
its height is 13 cm, what is the sum of its
parallel sides ? If one of these sides is 20 cm,

what is the length of the other ?

° Watch Video Solution

36. The sides of a triangle are 17 cm, 25 cm and

26 cm respectively. What is its area ?

o Watch Video Solution



https://dl.doubtnut.com/l/_D5SByoacw8RB
https://dl.doubtnut.com/l/_7j2fXRbHTuJe
https://dl.doubtnut.com/l/_CV7wfrtYO0xI

37. A circular playground has a circumference

of 145.2 m. Find its radius and diameter.

o Watch Video Solution

38. The circumference of the circle is 22 m.

Find its area

o Watch Video Solution



https://dl.doubtnut.com/l/_CV7wfrtYO0xI
https://dl.doubtnut.com/l/_4QV1AtewBc0o

39. What will it cost to paint the circular roof
of a building of radius 4.2 m at the rate of ¥ 25

per square metre ?

o Watch Video Solution

40. The diameter of circular lid is 2.8m. How
much will it cost to paint both sides of 100

such lids at the rate of ¥ 20 per sqm. ?

o Watch Video Solution



https://dl.doubtnut.com/l/_AkqIyFq2Shcq
https://dl.doubtnut.com/l/_h9iZu59yObRr
https://dl.doubtnut.com/l/_mt0E9xKXVrqh

41. In the figure L1 STNE is a rectangle. Q is
the midpoint of ST then find area of the
(1 STNE,area of A NTQ@Q and A @QSE and

area of the shaded portion.

Lo

o View Text Solution



https://dl.doubtnut.com/l/_mt0E9xKXVrqh

